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Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1 The drill hole depth in hardwood is of screw length. g A ST S RN TERE S AT dard i ___ gift 21
Double st

One-third e fagrs

Equal RIR

Half ameft

How can we compensate for the demagnetizing effect of reduced induced emf in

Q.No: 2 large machines? &9 <! At § o Ok Suaus & SiEersShT guma i wRurs H9 R god 87
Providing compensating windings in series with the armature SRR & |1y sjEen # erfagfef ardfe ver e

Increasing the ampere-turns in field windings e arEfan & gafrR-of gemn

Providing compensating windings in parallel with the armature TR & a1y gAHiR § arfagfd argfe vem o=

Decreasing the ampere-turns in field windings Hiee arEfen & gaftR-a &t &9 e

Q.No: 3 Which helps the coolant to flow to the cutting edge? feren ot sreyfes vaTed At § i Agg T 87

Flutes WIS

Tang i

Shank AH

Edge o

Q.No: 4 \tl)\glirrnr:: direction of power flow reverses, a differentially compounded motor o T ST Y R Sere et &, 4 o iR v & R e SR N
A shunt generator Qeh A€ SRR

Differentially compounded generator R4 wu 3 Affa s R

Cumulatively compounded generator Tt & § AfHa SR

A series generator ek SRl STReR

Q.No: 5 From 40 kV to 50 kV, which cables are used for underground service? 40 Fet & 50 et dak, AT a1 & foIg S & haret 1 IUART foha ST 82

Extra super tension cable Stfafws gur EaF dhae

Super tension cable R A dhaet

High tension cable I a1 hael

Extra high-tension cable ifafh I=a a-ma haa



A tube used to protect and route electrical wiring in a

QNo:6 building or structure is knownas__.

Cleat wiring Tefte arafn

Conduit wiring Frsge arEal

Batten wiring e amafar

Casing and capping wiring i iR &fthr arafan

QNo: 7 An electric current of 20A flows through a conductor for 6 minutes. Find the
amount of charge.

6955C

6235C

7200C

5642C

Q.No: 8 method is used to develop patterns for shapes having no apex and in
which not all sides are parallel.

Parallel line

Riveting

Triangulation

Radial line

An electric bulb is connected to a 220V generator. The current is 0.50 A. What is

Q.No: 9
the power of the bulb?

200 W

440 W

110W

S5wW

Q.No: 10 Which type of compound generator is used as welding generators?
Differential compound generators

Flat compound generators

Over compound generators

Under compound generators

Q.No: 11 has the capability of drilling holes up to 12.5 mm in diameter.
Sensitive bench drilling machine

Parallels

Pillar drilling machine

Electric hand machine

Q.No: 12 Which one of the following examples does not belong to the field of science?
Mathematics
Sociology

Computer and information
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Biology

should be provided as the working space around the main
switchboard according to IE rule 51.

Q.No: 13

1m
0.523 m
0.345m

0.814m

is defined as the potential difference
Q.No: 14 when applied to a conductor whose resistance is one
international ohm.

International volt FEAIFA Alee
Conductance head
Resistance RS |
Ampere qafr

Q.No: 15 By which test we can measure the constant losses of DC motor?
Load test

Retardation test

Hopkinsods test

Swinburne’s test

Q.No: 16 The constant losses in shunt and compound generators are equal to.

Mechanical loss + core loss
Stray loss + windage loss
Mechanical loss+ stray loss

Stray loss + shunt field copper loss

Q.No: 17 What is the colour of neutral wire in three core flexible cable?

Black
Green
Blue
Brown
Which of the following statements is correct?
Q.No: 18 1. A transformer is heated up when current flows through its winding.

2. Forced oil and water cooled- A method of cooling transformers.

IE e 51 & SgeR 9 el & IRl 3R 1H e Sl SFIg h ®UH _____ IS fohdn S anfe gl

1m
0.523 m
0.345m

0.814m
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3. The heat liberated from the transformer will not affect the insulation of the

windings.
1 and 2 are correct and 3 is incorrect
All of the given option

1is correct and 2 and 3 are incorrect
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All 1, 2, and 3 are incorrect gift1,23R3 T &

Q.No: 19 What is the maximum hose length in an automotive installation? JfTafeT ST # gisT Y Siferehdw sars & gidl 82
Less than 2.25m 2.25 iR A HH

Less than 1.25m 1.25 flr @

Can exceed not more than 5 m. 5 Hiex & a1fdrep 7 gt epell &1

Less than 3.5 m 3.5 flrAHH

Q.No: 20 Solar cells combined in series and in parallel are called el & o TR & GAfSa R AR FHET S &l
solar eye R 31

solar grid R e

solar array TR Troft

solar Series HR sjen

Which of the following contains the correct points to be considered before

Q.No: 21 ) o gt I&T & foIg Tk Uy a1 99 e © et Efafd A § R o e faan Srar @2
selecting a pump for lifting the water?

The quality of water to be lifted, the height of water to be lifted & the time for deliver. IBTY WA Tt Ut Y 7[oTerT, ISTQ W1 a1t arht i e ofiR Ravor ovr awa

The power of the motor. Hiex Y arf=hi

The quantity of water to be lifted, the height of water to be delivered & the time for lifting. IB1Y ST a1 gt Y |71, faRe frg s et gt &Y S 8ik Jor @ a5 |
The quantity of water to be lifted, the height of water to be lifted & the time for deliver. IBTY ST a1t 1=t Y AT, IS1Q ST aret gt hY S iR faa=or @ 9w

Q.No: 22 Which of the following option where less money spent on electrical braking? A & @ @ a1 ey STgt gfarearet sfth oR v dar @ glar 82

Regenerating braking gttt gt

Dynamic braking with separate excitation g IdeH & a1y nfasfie e

Plugging T

Dynamic braking with self-excitation w-Iqe & a1y nfasfe g

Q.No: 23 What the DC armature winding called, when coil sides are pole pitch apart? St IR aTEfET o ShgTd) €, STe hisd o foh TR Tiet forr & 31erT it &7
Pole pitch e fomr

Full pitch ool forg

Fractional pitch theret o

Multiplex L eaier]

Q.No: 24 The instrument which is used to test samples of one or more known values is e e B e e S
Conductors HEFR

Resistors AR

Calibrators hferstes

Insulators AR

A power system has 3 synchronous generators This is equivalent to the control
characteristics of the generator steam turbine as X1 = 60(60 - f), X2 = 120(70 - f),

Q.No: 25 X3 =140(80 - f) where, f represents the system frequency in Hz, X1, X2, X3 is the
turbine output power in MW Since the generator and the transmission network are
lossless, the system frequency for the 800 MW load is:

Teh UTeR e # 3 fAehAY SR 81d & U8 STReR WA eaTg chl fAa=ror fasivarai &
TRTER & F/AfF X1 = 60(60 - f), X2 = 120(70 - f), X3 = 140(80 - f) ST, f Hz & Rent
SMgfy &1 ufaffaa =T &, X1, X2, X3 AvTTaTe & eaTs SSeye UTeR & adifh SRex 3R
i Aeadh gifRfEd & 800 FwmaTe WR & fog Reew smgfy @ 87



65 Hz
80 Hz
40 Hz

70 Hz

Q.No: 26 What is the main consideration for the designing of feeder?
Current carrying capacity

Both atmospheric condition and current carrying capacity

Reactive power limit

Atmospheric condition

By seeing the below diagram, find which one is the correct connection method?

BCOMING SUPPLY LHES.

E:_ o
§§ l 3
/ { /
No: 27 LI
e
! 7 7 { Y
i —

Parallel operation of 3-phase motor
Series operation of 3-phase transformer
Parallel operation of 3-phase transformer

Parallel operation of single-phase transformer

The ratio of secondary to primary voltage is the transformation ratio of each

transformer for a Delta-Star connection.

Q.No: 28
X,’\,’g times
1/+/3 times
V/+/3 times

/3 times

Q.No: 29 Which is the best method to check the condition of the cells or the battery?
No-load voltage test

Visual inspection.

In-circuit test

Full-load Voltage test

Q.No: 30 When Ycs value is not integral then what is the nature of coil?

65 Hz
80 Hz
40 Hz

70 Hz

thre & fsreet o forg men foram o/ 82
IRT T &THeT

argrsea fRaf iR uRT ag= aman a1
ufaftrarsfier arfes e

argHsT ffafa

= g 71Q s i Tge gar & & @ T 98t Iuge Fes fafd g2

PICOLING SUPPLY LIMES.

2
i - :
- =111
™®1 j TR2
4122:0\.' G rrrre,  perrre ugérw
~, ™ ™ iz 100EVA “ﬁl SORVA
/ l 7
N0 { Iummsm (
g&;a 3
o

3-%hot HleR & TAHTER Ao
3-thet TR Y s T
3-theT SIHTR ST AR T

ST-TR FAFM & I Udeh RAhIFR T gUR &of & diedot 7R UTfAh atedst &t
U8l

X/3 AT
1,’\."'53_31!_‘1
v /3T

V3 Al

et a1 Fedt it FRARY ST 1 TG 31T qdHT B AT 82
At-wts aiedst wdaror

g2g fAfieror

g-fhe ufigror

guf &t aieest adteror

ST Yes a1 A9 quifes 781 g1 & o GSelt Sl Uepfd o gt 82



Long-pitched wieft forr

Can't be determined by Ycs value Ycs aF ZR1 fAufRa gt farar s gearar
Short-pitched AT o
Medium-pitched negy o

Q.No: 31 The voltage of a fully charged lead-acid battery is T avg @ TSt Y E cre-ufde det dr aeest gt @l

3.7V/cell 3.7V/8&«
2.8V/cell 2.8V/d«
2.1V/cell 21 V@«

2.5V/cell 2.5V/a«

Q.No: 32 Synchronous condenser used for power factor improvement is synchronous motor TR L ) 3 g R 2 st .

which operates at

full load with leading current 3rroft oY & ATy e FlS

full load with lagging current i e & a1y g wie

no load with leading current 3oft ¥RT & FTY R YR T

no load with lagging current «Affir &ie & a1y i WR TG
Q.No: 33 The capacity of the battery is expressed by the terms. 8 F e STe&T ZRT =<k h ST &
Current rating oRT e

Voltage rating aieest T

Ampere Hour Rating giRER aifer e

Power rating arfeh 3fdr

Q.No: 34 Which one of the liquids is an insulator liquid? P T A UaT Yo TYeleR ael 872
Copper sulphate IR Tthe

Alcohol Jehigd

Silver nitrate AR Ar3de

Ammonium chloride Wi FeRiss

.No:
Q.No: 35 transformer?

Earthing
Rewinding
Scraping

Varnishing

Q.No: 36 Which refers to a material that has valence shells comprising of 4 electrons?

Conductors
Insulators
Semi-conductors

Alkali

Q.No: 37 What does a single line diagram not represent?

What should be done when the winding is burnt out or badly damaged in a

SRR & arEfe sier o a1 g9 aRE arfausd g S UR T e anfge?

I T Yo O ueref ot TefHd ahear & fad 4 seaet! are 3dg M gid &2

YeheT 3T TR T TSR -Tg| el &7



Neutral wire of transmission lines
Delta connection of transformer winding
Ratings of machines

Star connection of transformer winding

Q.No: 38 Which instrument is devised for the measurement of A.C current, without
interrupting the circuit?

Clamp-on ammeter

Ohm's meter

Voltmeter

Current Tester

Q.No: 39 A device that converts chemical energy into electrical energy by chemical
action is called?

generator

electric cell

alternative

electrolyte

Q.No: 40 Why do motor windings fail?
High resistance

High inductance

Low reluctance

Low resistance

Q.No: 41 Which material has high electron mobility?
Bare conductors

Insulators

Semi-conductors

Conductors

Q.No: 42 Motors are rated in
kVA

kHP

HP

kVAR

Q.No: 43 The capacity of the storage cell does not depend on
Active material used

Size of the plates

Types of plates

The strength of the electrolyte

Q.No: 44 statement (A): An AC relay should not be used in the DC supply
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Statement (B): An AC relay when connected to a DC supply, will draw more current  3f¥erT (B): Teft (AC) Ret St €ieft (DC) amyfdf & e g¥ar &, At smeteres ufaferar A

in the absence of inductive reactance and result in burning out the coil.
Find the correct option from the following options.

Both A and B are incorrect

Ais incorrect and B is correct

Both A and B are correct

A is correct and B is incorrect

Match the following.

COLTMN A
1. SPDT-NC(DB-DM)

COLUMN B

Q.No: 45 ' i

3. SPDTI.NC (DB)

4. SPDT-NC(DM)

1-B, 2-D, 3-C, 4-A
1-D, 2-C, 3-B, 4-A
1-A, 2-D, 3-B, 4-C

1-C, 2-D, 3-B, 4-A

Q.No: 46 4PDT is abbreviated as .

Four-pitch dual throw
Four-pole dual throw
Four-pole double throw

Four-pitch double throw

The periodic testing and adjustment of the instrument to verify the required
performance are called

Q.No: 47
Testing
Inspection
Certification

Calibration

Q.No: 48 In context of Electrical/Electrician The distributors for residential areas are

Three-phase four-wire
Single-phase
Single phase three wire

Three-phase three-wire

Q.No: 49 What is the Coil span for 4-pole, 12-slot armature winding?

U & 31fdes ey Hiemm ik 36 gRumRaEY Hige sidt STgt|
fFr=fofea et & 9 T8t faeed o1 gt oemsu|

A 3R B & et &
AT g R BEE &
A 3R B &1 9@l 1
ATH g RBIEA @
Fr=fofea o faem fifsgl
HAH A Had B
1. THYERELTAHT (SHE-STTH) 5 o oo
i T
2. TEYEET
BT

3. THYERELTEHET (26
¢, T=——=ul

4. THYEELTAAT (E0H)

1-B, 2-D, 3-C, 4-A
1-D, 2-C, 3-B, 4-A
1-A, 2-D, 3-B, 4-C

1-C, 2-D, 3-B, 4-A
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12 12

9 9

24 24

3 3

Q.No: 50 For constant speed application which is most preferred DC motor? R Tify srgyrhT & forg Tedt uudler St Atex i 82

Series motor i Hiew

Cumulatively compound motor Tt s AR

Shunt motor e Al

Compound motor Tifires Atex

Q.No: 51 WAhic‘h typg of induction mo‘tor has a wound rotor with three o e S T 1 ST SR B s ST 90 A 8 5 A R e T S T e A 2
windings either connected in a star or delta?

Slip ring induction motor. =g far deeM AieR|

Class B motor T B Hie®

Class C motor T C Al

Class A motor T A Al

The heat produced by the resistance of 10 ohm is 5 J and the time for which the

Q.No: 52 current flows is 2 s, then the value of the current will be __. 10 3 feRtel GRS S 5. & SR TR T 51 9 2 5 8, & SI<T 61 7 ___ €
1A 1A

25A 25A

0.5A 0.5A

0.25A 0.25A

A 300-bus power system has 250 PQ bus. For achieving aload flow solution by N-R

300-39 ureR f&%en & 250 PQ 79 81 g fAderias & N- R gRT 9R UATg GHT U
Q.No: 53 in polar coordinates, the minimum number of simultaneous equations to be solved Qw8 i ax

is & forg, ues 91y & fohg o g e P am g @
349 349
359 359
400 400
459 459

Which fault will occur when all the sequence voltages at the fault point in a

Q.No: 54 power system are equal? RIF-TT thice a8 g Se faed HoTeht # thiee fiig R Toft srger diedst 9 &i?
Three phase to ground fault oft %t g TS wiee

Line to Line fault TS g 1S Biee

LLG fault LLG Wice

LG fault LG Wice

Q.No: 55 Path followed by the magnetic flux is known as? Yo UaTE gRT SI9Rd U &Y fohd ®U & ST STl 87

Magnetic circuit gerhia wfhe

Ferromagnetic circuit tRIAfees afdhe

Di-magnetic circuit f&-dahra afde

Electromagnetic circuit frega grarhia wfhe



Q.No: 56 Number of magnetic circuits that can be generally found is

1

5

Q.No: 57 Which insulating liquid is used to cool and insulate the transformer windings and
o core?

VG 460 grade Oil
Liquid CO,

Liquid Nitrogen

Transformer Oil

Q.No: 58 Number of types of wiring systems that are generally found is

3
2
9
1

Q.No: 59 Which DC motor has the most self-loading capacity?
Differentially compounded motor

Series motor

Cumulatively compounded motor

Shunt motor

If 111.83 mg of silver is deposited on the cathode in 3 min 20 s, by a DC current of
0.2A, calculate the ECE of silver.

Q.No: 60
2.0791 mg/c
0.01045 mg/c
2.795 mg/c

0.0936 mg/c

Q.No: 61 Basic science does not provide us the knowledge about?
The quality of our food

Improving human health

Social status

Treatment of diseases

Q.No: 62 What is the minimum thickness of non-hinged boards?
65 nm
40 nm

85 nm

FHETGE: 1Y ST aTe Yedhig aikaet & e __38
1
5
2

ST 82

VG 460 I sifae
ad CO;,

AR AN
sferatee oi

AR TR UTY ST aTel G e S ueri hr gem 2l
3
2

forer Sieft tex il W-TET arvtaT G Sifdreh gt 87
e =0 & fafse die

sfrge AR

ot wu @ g Aer

9 Hiex

Ifg Sete W 3 e 20 Adhe F 111.83 fAefiumy i) smm 6t St 8, at 0.2A & Sl e
T, TiET & SHIS T 70T AR

2.0791 farcfums / <t
0.01045 frefumy / =it
2.795 faefiam / <
0.0936 fsfum / <t

R T g foherdh SR F T e el ahear 82
ST Y uTaT

G W J §UR

TS Fafa

A BT ITAR

fa <fea aret &t =g Aters fhat it 82
65 T
40 TR
85 ggH



70 nm

Q.No: 63 Which type of primary cells are also called wet cells?
Alkaline cell

Leclanche cell

Mercury cell

Simple voltaic cell

Q.No: 64 The purpose of building a control cabinet is for.
Stapling

Controlling

Understanding

Modelling

Q.No: 65 Hard metallic is appropriate for making everlasting magnets because
its mechanical strength is high

its mechanical strength is low

its hysteresis loop has large area

it has good residual magnetism

Q.No: 66 From the given options find the range of voltages which can we used for
screened cables.

33 kV to 66 kV

66 kV to 132 kV

upto 11 kV

11kV to 33 kV

Q.No: 67 .
in hours.

12
8
7

10

To reduce the chatter noise in relays
Q.No: 68 y

magnetic pole face.
Single break
Single pole
Single throw

Shading coil

Q.No: 69 What should be the temperature level of cooling oil in a transformer?
10®°

25

The amp-hour capacity of industrial batteries is based on the rate of discharge

is placed near the tip of the
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Verifying that all household circuit wires are controlled by switch

Q.No: 70

necessary test.
Continuity test
Polarity test
Insulation test between conductor

Insulation test between earth and wiring

Q.No: 71 What is the depiction of given graph on a large power system network?
L-G fault

Three phase motor getting short

Open circuit fault

Ratings of machines

Q.No: 72 The electrochemical equivalent for Chromium is
0.0936 mg/c

0.304 mg/c

0.18 mg/c

1.0738 mg/c

Q.No: 73 Name the oil which is best for transformer cooling?
Coconut oil

Mustard oil

Naphthenic oil

Almond oil

Q.No: 74 One mil is equal to .

One-hundredth part of cm
One-hundredth part of an inch
One-tenth part of the cm

One-thousandth part of an inch

Q.No: 75 Ewaluate the expression 9999 + 9=

111
99
11111

In March 2024, ISRO successfully tested the landing mission of the
Q.No: 76 . L
reusable launch vehicle, what is it called?

Bharat
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Vijay fasa
Suffle e

Pushpak qeieh

Q.No: 77 Which dance style is Pandit Birju Maharaj known for?
Bharatnatyam

Kathakali

Kathak

Odissi

Who out of the following inaugurated the Sainik School at Gorakhpur, Uttar
Pradesh in September 2024?

Q.No: 78
Dharmendra Pradhan
Amit shah

Narendra Modi

Jagdeep Dhankhar

Q.No: 79 India hosted the 2nd Asia-Pacific Ministerial Conference on Civil Aviation in
o which of the following city in September 2024?

New Delhi
Bengaluru
Lucknow

Ahmedabad

.No: 80
QNo state?

Narmadapuram
Vidisha
Sagar

Indore

Q.No: 81 .
in August 2024?

Challa Sreenivasulu Setty
Chandra Shekhar Ghosh
Jaideep Hansraj

Anuj Tyagi

Q.No: 82 Which process during wastewater treatment helps in killing germs?
Sedimentation

Flocculation

Chlorination

Aeration

'Security Paper Mills' located in which of the following district of Madhya Pradesh

Who out of the following has been appointed as the new (27th) Chairman of SBI

ufed foRs] 7R &t fohw e Seft & forg ST siar 82

frfafea 7 § fram Rider 2024 & SR v & TREQR § e Tqet ol IgTe fomam?
g gu=
Sifa amg

g A
ST S

TRd 7 fder 2024 & fFrafaf@a 7 & e aer # AmRes Sgae w guwr ufr-
Ui AT g St fRar?

¢ Reeft
TS

RTRE TR e ge wer g & Refofaa 3 @ forg e & T &2

g
fafeam

TR
EL

TR 2024 # fFrfafed & @ fr gereitend o = (27a1) sreaer fges v mar 82

Toor sfifargg 98
g AR "W
STy gaerSt
31t «nft

SHUfE STeT IR o R i °Y wfshar Herosi al TR & Hag wedt 82
SEERET

Tt

FARIeRvoT

ardaq



Q.No: 83 Identify the unit of measuring intensity of sound. g Y Frgar 779 6 31E H gga|

Knots T Hie

Ampere THRR

Candela el

Decibels Feftae

Q.No: 84 Reflection of light means: TR & URTeIci <hT 31 &:

Change of direction of light weh12r Y R & aRad=

Light is bent by the surface U1 Tdg A gS AT E

Light is absorbed by the surface 1T Jdg ZRT anfa gt mar g
Formation of rainbow gxergy a1 fAwfor

Q.No: 85 Which of the following is NOT a common symptom of a computer virus infection? ~ Ffcifd & @ SI9-91 hwgex arRY sHAUT T THTI A& T8 67

Missing files or corrupted data T WIgd a1 gfita e

Increased internet speed a2l g€ Sewe St afa

Unexpected pop-up windows Jafaxe uig-eg it

Slow computer performance HYER HT ftar weslq

Q.No: 86 What does 'CSS' stand for in terms of computer terminology? HeR egTaelt & T F 'CSS' o1 T a1ef 82
Cascading Style Sheets Fehf wrEe 2ftew

Computer Style Sheets e wred ftes

Cascading Style System heh 3T wrge Ren

Computer Style System e wIed A

The output from a computer that is produced in a printed format is commonly

Q.No: 87 referred o as: HIR F St Reye flie Uey # JUR foRaT SraT 8, 39 I gl SI1dT &:
Scan Copy The it

Soft Copy Tige Hidt

Carbon Copy Eac ot

Hard Copy g1< it

Q.No: 88 Which of the following component is essential for displaying visual output on SRR 5 1 A e T R e 3 forg o &2

a screen?
Hard Disk g1 fewn
RAM ™
Graphics Card Tifthad 1S
cPU g
Q.No: 89 What is the function of a 'printer'? fiiex o1 href R &2
To input text e TIYE T
To produce physical copies Wiferen ShIdisT Iau= HeAT
To capture sound RS FTR AT

To display images iyt =t wefia w=ar



Who is credited with developing the concept of the stored-program

Q.No: 90

computer architecture?
John von Neumann
Alan Turing
J. Presper Eckert

Grace Hopper

In each of the four pairs of letter-clusters, the letters in the second term are a
rearranged/ transformed form of the letters in the first term in a particular
pattern. In which two pairs, has the transformation been done in the same way?

(A) HFMT -SUNG
Q.No: 91

(B) LSGR —OHTI
(C) LSGR- PRSR
(D) LPSR- LSQR

BandC

AandC

CandD

AandB

Find the next term of the given series
Q.No: 92
AB,CF, EJ,?, IR

FM
FL
FJ

GN
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(A) HFMT -SUNG
(B) LSGR —OHTI

(C) LSGR- PRSR

(D) LPSR- LSQR

BaRC

A3RC

CcaRD

A3RB

&Y 7T SRAT AT SFTT U 1 HIAT |
AB,CF,EJ,?, IR

FM

FL

FJ

GN

How many such pairs of letters are there in the word 'NORMALIZES' each of sz 'NORMALIZES' & aiisft o7 & 3 Rt si1@ & v 37 e 9o & e &

Q.No: 93 which has as many letters between them in the word as in the English
alphabet?

&~ a1 o o

Find the missing term in the following series.
Q.No: 94
ADK, EZQ, IVW, MRC, ?

QNI
MaQJ
QMJ

CKV

Find the missing number in a series given below:
Q.No: 95

21,43,85,171,341,?
684

675

gof & fSra= Y sfish gufare & sraR S fi= 81
6
8
5
4

frfafad sfaer § g« ug 71d Al
ADK, EZQ, IVW, MRC, ?

QNI

MQJ

amJ

CKV
F2 & meft sfaen A g e I R

21,43, 85,171,341,?
684

675



683
680
Select the figure that will come next in the following series.
Q.No: 96
?
—
—
p—
PR—
Afp—
L e 4
—
lfp—
—
—
M
Q.No: 97 If 200 laddus are distributed in the Republic Day celebration in such a way that
o each gets 5% of the laddus. How many persons were present in the celebration ?
24
20
10
8

Q.No: 98 In what time will Rs 30 become Rs 75 at 25% per annum simple interest?

4 years
6 years
3 years
5 years
A point M, lying on the line joining the centers of two circles of different radii, is
Q.No: 99 distant from their circumferences by 3 cm and 4 cm. The transverse common

tangents of the two circles passing through point M intersect each other at
90 degree. Find the length of the transverse tangent.

Can't be determined

1W2-1)
V2 +1)

1052 -1

Sofiya is 49 year old. She is 5 year older than four times of Vinay's age. Find age

.No: 100
QNo of Vinay.

15 years

683
680

frfafEd sfae & St o areft Siepfd &1 a9+ SIfSg|

-3

[T

oI e @HRIE A afe 200 g 39 UehR Sie Y foh ucdeh bt 5% T et gRie A
foRam afxh Hieg & 2

24
20
10
8

fram T 7 30 T, 25% AT ATLRUT TS i &R F 75 UL 51 SAT?
4af
6 af
3oy
5 aef

T foig M, 51t v 9 o & & 31 & g ol Sitet aTelt 3T IR R 8, 3dh uRkfy
G 3Gt 3R 4 A T T R B M B T[oRd §Q &A1 g & T foreT TRaEm b gaR
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TW2-1)

W2 +1)

105(v2 =1)

Sifthar 49 axf 1 §1 7 farTa i Mg & IR T3 F 5 a9 7St 31 faeTa it 3mg T HIg|

15 af
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